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1 (a) Fig. 1.Identify two trends on adults living with their parents.

(b) Text 1. Identify and explain two possible reasons for the growth in three generation
households.
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(c) Assess the possible advantages and disadvantages to members of a family of living in three
generation households.

[Total: 15]
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2 Fig. 2 and Text 2. Discuss possible ways the statutory, private and voluntary services could use
this data and information to improve childcare provision for pre-school children.
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[Total: 15]
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3 (a) Fig. 3.Identify two trends for childless women.

(c) Identify and explain three possible problems women may face by delaying the age at which
they have children.
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(d) Analyse possible reasons why the average number of children per woman is predicted to fall
for women born in the mid 1980s.
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4 (a) Fig. 4. Identify two patterns for pensioners receiving social security benefits.

(b) Text 4. Identify and explain three possible reasons why men are expected to live longer in the
future.

(c) Evaluate the possible consequences for society of the fact that both men and women are
living longer than at any time in the past.
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5 (a) Fig. 5. Identify three patterns for teenage conception and outcome.

(b) (i) Identify an appropriate primary qualitative research method and a relevant sampling
technique for researching teenage pregnancy.

(i) Outline how you could use this method to investigate the possible impact of teenage
pregnancy on young mothers.

© OCR 2008 [Turn over



[Total: 20]

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every reasonable
effort has been made by the publisher (OCR) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the publisher will be
pleased to make amends at the earliest possible opportunity.

OCR is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES),
which is itself a department of the University of Cambridge.

© OCR 2008



